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For each questionfrom 1 to 24, four options are given. One of them is the correct answer,
Make your choice and shade the oval {1, 2, 3 or 4) on the Optical Answer Sheet provided.

{48 marks)

1 The diagram below shows fwo living things.

potted plant monkey

Which of the statements of the two [iving things are true?

A Both can grow.
B Both can reproduce.
C Both can make their own food.

D Both respond to changes around them.

(1} AandBonly
(2} Cand Donly
{(3) A, BandDonly
4y ABCandD
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2 Victor deciééd to keep his pet hamsier in a cage as shéwn below.

Mamsier =

L

Water

What is missing from the diagram to ensure that the hamster stays alive?

(1) Air
(2)  Wind
{3) Food
(4)  Sunlight
3 The diagram below shows Animal H.

Which statement is not correct about the animal groap that Animal H belongs to?

{1} Theylayeggs.

{2) They live both on land and in water,

(3) They have a body covered with scaies.

{4) They breathe using their fungs when on [and.
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4 Study the classification table below.

Animals

w k,c(q' of ke »(31'1&1»' mi 36-1/ _
Which of the follewing set of headings best represents Group A and B?

Group A Group B
(1) Breathe through skin Breathes through lungs
(2) Body covered with hair Body covered with scales
(3) Live on fand Lives in water
(4., Giving birth to young Lay eggs
5 Aaron described a living thing as follows.

Reproduce by spores
Feeds on dead or living matter

Can be seen without a microscope

Which group does this living thing most likely belong to?

1)
(2)
{3}
4)

fungi
plant
animal

bacteria
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6 Study the table below.
Things Need airto | Need water Able to Able to
' survive to survive make its move from
own food place to
place
S ¥ v v |
T .
U v . V
The following statements were made of S, T and U.
A S could be a living thing.
B T could be a non-living thing.
C S could belong to the fungi group.
D U could belong to mammat group.
Which statements are true?
{1) AwandBonly
(2) <CandDonly
(3) B,CandDonly
{(4) A,BandDonly
7 Pat conducted a test on 4 bags made from different materials. The table below shows

how much mass each bag can hold without breaking.

Bag Amount of mass bag can
hold before breaking (kg)
3

9
12
5

| = LI O

- Which bag should Pat use fo carry an object weighing 11 kg?

(1 6
(2) H
3

(4) J
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8 The diagram below shows a trampoline. The trampoline has part E attached to a metal
frame with springs that helps the girl to jump in the air.

&

Part &

Part E must be made of 2 material thatis

(1) strong and flexible
(2) stong and can float on water
(3) flexible and can float on water

(4) transparent and can float on water
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2] Chiloe carried out an experiment by placing materials C, D, E and F into a container of
water, The results are shown below.

Which material, C, D, E or I, will be most suitable to make the float shown above?

(1
(2)
3
(4)

PHPPS/P3 Science SA 2024
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10 The diagram below shows a flag used in a competition.

identify the properties of the two parts that work fogether to carry out its function.

stick

flag

Flag Stick
(1) float on water sink in water
(2} weak strong
(3) waterproof non-waterproof
(4) flexible stiff
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11 G is taken from a fruit of a plant. Which of the following correctly shows G in the life cycle

of a plant?

Z

1) /> o (2) Young plant
Adult plant Young plant Adult plant
~_> <
3 4
(3) /9 s \ (4} ﬁYoung Plant \/
Young plant Aduilt plant G Adult plant
<< <
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12 Caleb observed some living things as shown below.

Penguin

Fermn

Mango plant

Mushroom

(1) Penguinonly
(2}  Mushroom only
(3) Mango plant only

/} Seed. \/

Adutlt plant

<

Which of the following living things has/have the fife cycle above?

{4y Fem and Mango only

PHPPS/P3 Science SA 2024
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13 The diagram below shows the life cycle of an insect.

Which of the following animals has a similar life cycle to the one above?

(1) Mosquito
{2) Butterfly
{3) Cockroach

(4) Mealworm Beetle

14 Study the flowchart below.

Animals

Does it lay
eggs?

Yes

k

]

No

Does it live on
land throughout
its life cycle?

Yes

lm

Does it have a
4-stage fife
cycle?

Yes

No

o
%

Based on the flowchart, which of the following is true?
{1) Animal Viay eggs and has a 4-stage life cycle.

{2) ’ “Animal S does not lay eggs buthas a 4-stage life cycle.
(3) Animais U and T live on land throughout their life cycle.

{4) Animal T lays eggs and lives on land throughout its fife cycle.

PHPPS/P3 Science SA 2024
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15 Study the fifecycle of an animal below. Each ietter represents a stage.
/ A \
0 B

N/

If B represents the pupa stage, what stage does A represent?

(1} Egg
(2} Larva
(3} Adult
(4} Nymph

16 The bar graph shows the number of days that Animal J remains at each stage of its life

cycle.
Number of days ;’
i :
30 a
| 25 1
" 20
| 15 ;
;10 ‘
. 5
Sl IE B e
Egg Larva Pupa Adult

Stages

How many days does it take for Animal J to become an aduit after hatching from its

egg”?

(1} 5

{2y 20

{3 25

(4) 55
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17  Carys recorded the characteristics of the life cycle of a butterfly and a frog. A tick () shows
that the animal has the characteristic.

| Characteristics Butterfly Frog
C | Lays eggs n water v
D | Has 3 stages in its fife cycle V
E | The young resemble the adult +

Which of the following shows the correct characteristic(s) of the two life cycles?
(1Y Conly

{(2) D only

{(3) CandDonly

{4) C,DandE

18 Mary tested the magnetic strengths of magnets D, E, F and G by moving an iron nail
slowly towards each magnet and measuring the distance at which the nail was attracted.
The resuits are shown in the diagram below.

R e T T ] (R R R e S e G

1
7 139&19 20;

AL INUIN PN S

MagnetD | N S

MagnetE | N S b::»

MagnetF § N 5§

— . e e Ry N R S wm wm e
'
o v =

MagnetG | N S

ﬁ

1

Based on the resuits, the magnetic strength of magnet

(1) Eisthegreatest

(2} . D and magnet F is the same

{3)  Dislesser than that of magnet E
{4) F is greater than that of magnet G

PHPPS/P3 Science SA 2024
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19 In which of the following will the two magnets push each other away?

(1) (2)

N S N s N
5 N 3
(3) (4)
S N N
N S
S S N
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20 Study the arrangement of the magnets below. The North pole of a magnet is given in the

diagram.

Which of the following shows the correct poles at points A, B and C?

14

A B c
1) north north north
(2} south notrth south
{3} north north south
(4} south south north
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214 Study the following diagram below.
' Magnet F
N S A
.___—_’. ————
Magnet G
N S B
L — e

‘Magnets F and G were then brought close to each other as shown below.

Magnet F

A

Magnet G

B

What will be observed when magnets F and G are placed together?

(1)
(2)
(3)
(4)

They will repel.
They will attract.

Magnet F and G will repel first and then attract.

Magnet F and G will aftract first and then repel.

PHPPS/P3 Science SA 2024
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22 Debbie stroked 2 similar nails, G and H, with the same bar magnet. Nail G was stroked
20 times and Nail H was stroked 30 times. She then placed the nails 4 cm from the steel
clips and recorded the number of steel clips attracted.

Which of the following is the most likely results recorded by Debbie?

Number of steel clips attracted by
Nail G - Nail H
(1) g 7
(2) 5 3
(3) 8 12
(4) 10 9

23 Using the electrical method, Zetian used batteries, wires and Object W to make an
electromagent. However, Object W did not attract any iron nail.

Which of the following is/are possible reason{s) as to why Object W did not attract any

iron nail?
A There were too few batieries used.
B There were too many coils of wires around Object W.

C The wires were not corectly connrected to the ends of the battery.

{1} Bonly

(2} Conly

(3) AandConly
(4) A,BandC

PHPPS/P3 Science SA 2024
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24  Susan wanted to find out if the size of a magnet affects its magnetic strength. She set up
the experiment below with 4 magnets of different sizes.

L........T._.........J

string

B—— magnet

fray of pins

Which of the following should she change to ensure her experiment is fair?

(15 Size of magnet
(2)  Type of magnet
(3) Number of pins in the tray

(4) Distance of magnet away from the tray of pins
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Write your answers to the questions 25 to 33 in the spaces provided.
The number of marks available is shown in brackets [ } at the end of each question or part

guestion.

{32 marks)

25  Esther was given 2 sets of objects as shown below.

Y

D

E

/\

(a)  The objects above are classified according to their

F

(1]

(b) (i) Using another characteristic, write the letters, A B, C,D EandFinthe settfo
show how the objects above can be classified.

SetV

2]

Set W

(i} Based on your answer in {b}(i}, give a suitable heading for Set V and W._ [1]

Set V-

Set W:

PHPPS/P3 Science SAZ 2024
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2 |
26  Study the classification table below.
Animals
| -
| | -
Three-stage life cycle Four-stage life cycle
-
1 |
Lay Lay Lay T lay |
eggs in eggs on eggsin | | eggson .
water land water | land |
| ]
E F G [ H
(a) Based on the classification table, state the characteristics of animal E. [1]
(b) State one difference between Animals F and H. (1]

(c}  Based onthe classification chart above, which animal £, F, G or H best represents
a mosquita? (1]

£ OO NOT WRITE 1N THIS MARGIN

~
¥

{d} The picture below shows a larva of a mosquite which uses its breathing tube to
take in air above the water surface.

PLEAS

Layer of oil
Water -
-
Breathing
tube

-
[ ]
]

Kumar sprayed a layer of oil on the surface of the water. Give a reason why the

larva died after some fime. 11
-
-

Go on to next page)

( p -
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27  Marcus conducted an experiment to test a property of 3 diiferent materials, 8, C and D,
by ptacing a mass on them until they broke.

— B

The results were then recorded in the table below.

Material Mass hung on material until it broke (kg)
8 62
C 85
b 74
{a} What property of material was Marcus testing in the experiment above? {11

(b}  Which material, B, C or [, should Marcus use to make a chair if he weighs 77kg?

Why?

12
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28 John has a fish tank which allows the plant to receive sunlight as shown below.

Part J

(a) Put two ticks (¥) in the boxes below to identify possible materials used to make

part J of the fish tank.

[2]

Material Plastic I Wood Glass |
Tick (V) 1
(b} State the property of the materiaf for you to make the choice in (a). [1]

29  Jennifer observed three plants G, H, and I, and recorded her observation in the table below.

—

Plants
Ohservations of plants G H 1
Has flowers No Yes Yes
Has green {eaves Yes Yes Yes
Floats on the surface of water Yes Yas No

{(a) Based on the information given in the table above, state ail the characteristics of

Plant |.

[]

{b} State a difference between Plant G and H.

[1]

{c) Which plant, G, H, orl, can a banana plantbe?

(1
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{Go on to next page)

BP-624

PLEASE DO NOT WRITE 1IN THIS MARGIN



SE DO NOT WIRITE IN THIS MARGIN

PLE

30 The diagram below shows the life cycle of a butterly.

(a)

{b)

State two differences between the larva and pupa stage of a butterly. [2]

1%t Difference:

2™ Difference:

Which stage of the life cycle of a butterfly is considered a pestto famers? {1}

{Go on to next page)
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31 Peler prepared 4 pots with 3 seeds each. The conditions and resulis are shown betow. A
tick (V) indicates the presence of the condition and a cross{x} indicates the absence of it

Pot Conditions Results ohserved in each
Light | Water pot
w X v ?;‘ fi
X X X 8 9@
Y + X @ 9 @
: | v | v] [PPP
&~ & R

(a) Based on the results in the table, state the condition that does not affect the
development of the seeds. 11
{b} Peter wanted te find out if water is required for the seeds to grow. Which 2 pots

from the above table should he use for his experiment? [2]

PHPPSP3 Science SA2Z 2024
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32 Leanne [abelled magnet Q info 3 parts, J, K and L. To find out which part had the strongest
magnetic strength, she placed the magnet over atray of steel clips and recorded the results

in the table below.

Magnet Q

Parts of magnet Q Number of steel clips aftracted to the magnet
J 13
K 5
I 13
(a) Based on the results above, which parts, J, K ot L of the magnet have the greatest
magnetic strength? Give a reason for your answer. (2]
(b} What can Leanne do to attract more sieef clips with the same magnet? f1]

Magnet G was suspended with a string from a retort stand as shown in the diagram below.

Retort
stand

Magnet

{c} Which direction would the freely suspended magnet come to rest at? [1]

PHPPS/P3 Science SAZ 2024
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33 Callum wanted to find out if the number of batteries affect the magnetic strength of an
electromagnet. He used the electromagnet to attract some iron pins and recorded the

results in the table below.

- —

77 7

E

g

*‘ *

Number of batteries

Number of iren pins attracted by
the electromagnet

3

6

10

BN =

15

———
o
g

What is the relationship between the number of batteries and the number of iron
pins attracted by the electromagnet? Circle the correct answer,

1

As the number of batteries increases, the number of iron pins attracted

by the electromagnet{ icreases / decreases ).

T
S

What must Callum keep the same to ensure the experiment is fair? Tick (V) the

box below lo show the variables that needs te he changed or {o keep the same.

(2]

Variable Variables to be Variables to keep
changed the same
Number of batteries
Distance between the
electromagnet and the
iron pins

Material of electromagnet

PHPPS/P3 Science SAZ 2024
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5
!

9
(c) Without changing the number of batteries, state another way Callum do to
increase the magnetic strength of the electromagnet? [1}
{d) Calium replaced the iron pins with wooden pins. Give a reason why the wooden
pins were not attracted to the efeciromagnet. [1}
-  End of paper -

{Ga on to next page)
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YEAR
LEVEL

2024
PRIMARY 3

SCHOOL : PEI HWA PRESBYTERIAN PIMARY SCHOL
SUBJECT : SCIENCE

TERM : SEMESTRAL ASSESSMENT
Qi 3 Q2 3 Qa3 | 3 Q4 3
as 1 Qb6 4 Q7 3 Q8 1
Qg 1 Qi0 4 Q11 4 Q12 3
Q13 3 Qi4 4 Q15 2 Q16 2
Q17 2 Qis 4 19 4 Q20 3
Qz1 2 Q22 3 | az 3 Qs | 1
(25 a) colour

b) {i)setv: 3,c,d,f
setW:BE
(ii) set V : 4 sides
Set W : 3 &ides

Q26 a) It has a3 stage fife cycle and it lay its eggs in water

b) Animat F hiis 4 3 stage life cycle while H has a 4 stage lifegycle

¢} G _

d} It is betsuse the layer of oil blocked the breathingtube so it
could not breathe as living things need air to survive , the
larva Eild hot have air so it died.

Q27 a) strength

b} C. As themass limit of Cis 95kg so it is safe for Marcus.
Q28 a) plasticand g lass

b) transparenty
Q29 a} Has flowets-and bas green leave

b} Plant H bears flowers butplant G does not.

c) Plantl .

Q30 a} 1 difference : The puga canrot move from glace to place
20¢ difference : The larva eats butthe pupa does not

b) farva

Q31 a) lght

b} potsYandZ or pots w pend X
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Q32

a) J and L as they attracted the most clips and the
poles of a magnet are the strongest.
b} Leanne an lower the magnet closer to the tray

of clips.
c) North - South

Q33

a) Increases.
b) Variables to keep the same distance between

the electromagnet and the iron pins.
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